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(GI-7, VI-VDI-SI-3) 
DATE: 26.04.2022   MAXIMUM MARKS: 100                  TIMING: 3¼ Hours 
 

FINANCIAL MANAGEMENT   
 

SECTION - A 

Q. No. 1 is compulsory. 

Candidates are also required to answer any four questions  

from the remaining five questions. 

In case, any candidate answers extra question(s)/sub-question(s) over and above 

the required number, then only the requisite number of questions top answered in 

the answer book shall be valued and subsequent extra question(s) answered shall 

be ignored. 

Working Notes should form part of the respective answer. 

 

Question 1: 

(a) The following accounting information and financial ratios of M Limited relate to the 

year ended 31st March, 2016 : 

Inventory Turnover Ratio    6 Times 

Creditors Turnover Ratio    10 Times 

Debtors Turnover Ratio    8 Times 

Current Ratio      2.4 

Gross Profit Ratio     25% 

Total sales Rs. 30,00,000; cash sales 25% of credit sales; cash purchases Rs.  

2,30,000; working capital Rs.  2,80,000; closing inventory is Rs.  80,000 more than 

opening inventory. 

You are required to calculate: 

(i) Average Inventory 

(ii) Purchases 

(iii) Average Debtors 

(iv) Average Creditors 

(v) Average Payment Period 

(vi) Average Collection Period 

(vii) Current Assets 

(viii) Current Liabilities. 

(5 Marks) 

 

(b) ABC Ltd. wishes to raise additional finance of Rs. 20 lakhs for meeting its 

investments plan. The company has Rs. 4,00,000 in the form of retained earnings 

available for investment purposes. The following are the further details: 

- Debt equity ratio 25 : 75. 

- Cost of debt at the rate of 10% (before tax) upto Rs. 2,00,000 and 13% 

(before tax) beyond that. 

- Earnings per share Rs. 12. 

- Dividend payout 50% of earnings. 

- Expected growth rate in dividend 10%. 

- Current market price per share, Rs. 60. 

- Company’s tax rate is 30% and shareholder’s personal tax rate is 20%.  

Required: 

(i) Calculate the post tax average cost of additional debt. 

(ii) Calculate the cost of retained earnings and cost of equity. 

(iii) Calculate the overall weighted average (after tax) cost of additional finance. 

(5 Marks) 
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(c) A Company had the following Balance Sheet as on March 31, 2006: 

Liabilities and Equity Rs.  

(In crores) 

Assets Rs.  

(in crores) 

Equity Share Capital  Fixed Assets (Net) 25 

(one crore shares of Rs. 10 each) 10   

Reserves and Surplus 2 Current Assets 15 

15% Debentures 20   

Current Liabilities 8   

 40  40 

 

 The additional information given is as under: 

Fixed Costs per annum (excluding interest) Rs.  8 crores 

Variable operating costs ratio 65% 

Total Assets turnover ratio 2.5 

Income-tax rate 40% 

 

Required: 

Calculate the following and comment: 

(i) Earnings per share 

(ii) Operating Leverage 

(iii) Financial Leverage 

(iv) Combined Leverage. 

(5 Marks) 

 
(d) Door Ltd. is considering an investment of Rs. 4,00,000. This investment is expected 

to generate substantial cash inflows over the next five years.  Unfortunately, the  

annual cash flows from this investment is uncertain,  and  the following profitability 

distribution  has been established. 

Annual Cash Flow (Rs.) Probability 

50,000 0.3 

1,00,000 0.3 

1,50,000 0.4 

At the end of its 5 years life, the investment is expected to have a residual value of 

Rs. 40,000. 

The cost of capital is 5% 

(i) Calculate NPV under the three different scenarios. 

(ii) Calculate Expected Net Present Value. 

(iii) Advise Door Ltd. on whether the investment is to be undertaken. 

Year 1 2 3 4 5 

DF @ 5% 0.952 0.907 0.864 0.823 0.784 

(5 Marks) 

 

Question 2: 

(a) Given below are the data on a capital project 'M'. 

Annual cash inflows     Rs. 60,000 

Useful life      4 years 

Internal rate of return    15% 

Profitability index     1.064 

Salvage value     0 

You are required to calculate for this project M : 

(i)  Cost of project 

(ii)  Payback period 
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(iii)  Cost of capital 

(iv)  Net present value 

PV factors at different rates are given below: 

Discount factor 15% 14% 13% 12% 

1 year 0.869 0.877 0.885 0.893 

2 year 0.756 0.769 0.783 0.797 

3 year 0.658 0.675 0.693 0.712 

4 year 0.572 0.592 0.613 0.636 

(6 Marks) 
 

(b) The following figures are collected from the annual report of XYZ Ltd.: 

  

Net Profit Rs. 60 lakhs 

Outstanding 10% preference shares Rs. 100 lakhs 

No. of equity shares 5 lakhs 

Return on Investment 20% 

Cost of capital i.e. (Ke) 14% 

CALCULATE price per share using Gordon’s Model when dividend pay-out is (i) 25%; 

(ii) 50% and (iii) 100%.  

(4 Marks) 

 

Question 3:  

Following information is forecasted by the Puja Limited for the year ending 31st March, 

20X8: 

     

     

Balance as at 1st 

April, 20X7 (Rs.) 

Balance as at 31st 

March, 20X8 (Rs.) 

Raw Material 45,000 65,356 

Work-in-progress 35,000 51,300 

Finished goods 60,181 70,175 

Debtors 1,12,123 1,35,000 

Creditors 50,079 70,469 

Annual purchases of raw material (all 

credit) 

 4,00,000 

Annual cost of production  7,50,000 

Annual cost of goods sold  9,15,000 

Annual operating cost  9,50,000 

Annual sales (all credit)  11,00,000 

 

You may take one year as equal to 365 days. 

Required: 

CALCULATE 

(i) Net operating cycle period. 

(ii) Number of operating cycles in the year. 

(iii) Amount of working capital requirement using operating cycles.  

(10 Marks) 

 

Question 4:  

A firm has a current sales of Rs. 2,56,48,750. The firm has unutilised capacity. In order to 

boost its sales, it is considering the relaxation in its credit policy. The proposed terms of 

credit will be 60 days credit against the present policy of 45 days. As a result, the bad 

debts will increase from 1.5% to 2% of sales. The firm’s sales are expected to increase by 

10%. The variable operating costs are 72% of the sales. The Firm’s corporate tax rate is 
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35%, and it requires an after-tax return of 15% on its investment. Should the firm change 

its credit period? 

(10 Marks) 

 

Question 5: 

(a)  The following figures are collected from the annual report of XYZ Ltd.:  

  

Net Profit Rs. 30 lakhs 

Outstanding 12% preference shares Rs. 100 lakhs 

No. of equity shares 3 lakhs 

Return on Investment 20% 

Cost of capital i.e. (Ke) 16% 

CALCULATE price per share using Gordon’s Model when dividend pay-out is (i) 25%; 

(ii) 50% and (iii)100%.           

(5 Marks) 

 

(b) A Ltd. is in the manufacturing business and it acquires raw material from X Ltd. on a 

regular basis. As per the terms of agreement the payment must be made within 40 

days of purchase. However, A Ltd. has a choice of paying Rs. 98.50  per Rs. 100 it 

owes to X Ltd. on  or before 10th day of purchase. 

 Required: 

 EXAMINE whether A Ltd. should accept the offer of  discount assuming average billing 

of  A Ltd. with X Ltd. is Rs. 10,00,000 and an alternative investment yield a return of 

15% and company pays the invoice. 

(5 Marks) 

 

Question 6:  

(a) fuEufyf[kr foRrh; fy[krksa dks la{ksi esa le>kb,%   

(i) Euro Bonds 

(ii) Floating Rate Notes 

(iii) Euro Commercial paper 

(iv) Fully Hedged Bond 

(4 Marks) 

  

(b) iV~Vs ds ykHkksa ij ppkZ djsaA   

(3 Marks) 

 

(c) foRrh; izca/ku ds nks eq[; mn~ns'; fy[ksaA   

 (3 Marks) 

  



MITTAL COMMERCE CLASSES                   INTERMEDIATE – MOCK TEST 

5 | P a g e  
 

ECONOMICS FOR FINANCE 

SECTION - B 

Q. No. 7 is compulsory. 

Answer any three from the rest. 

In case, any candidate answers extra question(s)/sub-question(s) over and above 

the required number, then only the requisite number of equestions first answered 

in the answer book shall be valued and subsequent extra question(s) answered 

shall be ignored. 

Working Notes should form part of the respective answer. 

 

Question 7: 

(a)  fuEu lwpuk ds vk/kkj ij Kkr dhft;s%  

(i) QeZ A rFkk QeZ B dk ewY; of/kZr   

(ii) Ckktkj Hkko ij ldy ?kjsyw mRikn   

(iii) lk/ku ykxr ij 'kq) ?kjsyw mRikn   

 Particulars Rs. crore 

(i) Sales by firm B to general government 300 

(ii) Sales by firm A 1500 

(iii) Sales by firm B to households 1350 

(iv) Change in stock of firm A 200 

(v) Closing stock of firm B 140 

(vi) Opening stock of firm B 130 

(vii) Purchases by firm A 270 

(viii) Indirect taxes paid by both the firms 375 

(ix) Consumption of fixed capital 720 

(x) Sales by firm A to B 300 

(5 Marks) 

  

(b) fofue; nj esa cnyko dh izd`fr dks rFkk okLrfod vFkZO;oLFkk ij muds izHkko dks Li"V djsaA  

(3 Marks) 

  

(c) ^lkekU; yksxksa dh =klnh* 'kq) dk o.kZu dhft,A  

(2 Marks) 

 

Question 8: 

(a) fdl izdkj ls fons’kh izR;{k fuos’k izkIrdrkZ ns’kksa ls ekuo iw¡th dks izHkkfor djrs gSa\ 

(3 Marks) 

 

(b) mi;ksx QaD’ku dks ifjHkkf"kr djsaA ijh{k.k djsa D;k ?kfVr gksxk ;fn ;ksx O;; vFkZO;oLFkk dh mRiknu 

{kerk ls vf/kd gS\ 

(2 Marks) 

 

(c) cktkj foQyrk dh vo/kkj.kk dks ifjHkkf"kr djsaA cktkj foQyrk dh fofHkUu L=ksarks dks of.kZr djsaA 

(3 Marks) 

 

(d) ,d ns’k esa /ku vkiwfrZ dk fofHkUu fu/kkZjd dks of.kZr djsaA 

(2 Marks) 
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Question 9: 

(a) ,d vFkZO;oLFkk esa vk; dk iqu% forj.k ds fy, foRrh; uhfr eki ds dkSu ls izdkj mi;ksxh gS\ ijh{k.k 

djsaA 

(5 Marks) 

 

(b) udn lap; vuqikr (CRR) ij uksV fy[ksaA udn lap; vuqikr (CRR) ds ifjpkyu dks Li"V djsaA  

(3 Marks) 

 

(c) ^,aVh MfEiax* eki ls vki D;k le>rs gSa\ 

(2 Marks) 

 

Question 10: 

(a) gekjh vFkZO;oLFkk esa cktkj LFkk;hdj.k ;kstuk dh D;k Hkwfedk gS\ 

(3 Marks) 

 

(b) vkidh LFkkuh; daVsaV vko';drk D;k gS\ ;g fdl izdkj O;kikj dk izHkkfor djsxh\  

(3 Marks) 

 

(c) GATT us fdl izdkj 1980 rd viuh izklafxdrk dks [kks fn;k\ 

(2 Marks) 

 

(d) jk"Vªh; vk; dh x.kuk djrs gq, isa'ku rFkk vk; lqj{kk Hkqxrku dks vYi dj fn;k tkrk gS\ 

(2 Marks) 

 

Question 11: 

(a) WTO ds laca/k esa rFkk bldh mnkj fo'o O;kikj dk flLVe dks cuk;s j[kus rFkk c<+kus dh bldh 

;ksX;rk ds laca/k esa dbZ Hkkadk dks mBk;k gSA  

(3 Marks) 

 

(b) pkgs ;fn ,d jk"Vª lHkh oLrq dk mRiknu esa vU; jk"Vª esa de dq'ky gS] ikjLifjd ykHk O;kikj dk fQj 

Hkh Ldzksi gSA foLrkj esa O;k[;k djsaA  

(3 Marks) 

 

(c) fuEu esa ls izR;sd fLFkfr ds fy, cktkj ifj.kke dh igpku djsaA  

(i) dqN ;qok jkf= dks rst laxhr ctkrs gSaA iM+kslh jkr dks lks ugha ikrsA  

(ii) jke ,d cM+h SUV dk dz; djrk gS tks Hkkjh gSA  

(2 Marks) 

 

(d) 'kCn v)Z&tu oLrq dks Li"V djsaA  

(2 Marks) 

 

 

 

 

__**__ 


